08:10:07 | RED ROCKS

DISC ONE

SET ONE

01 ON THE ROAD 4:58

02 CEDAR LAURELS 7226

03 THE REMINGTON RIDE 4:56
04 GOT WHAT HE WANTED 9:00
05 HOWLIN’ AT THE MOON* 814
06 WINDY MOUNTAIN> 11:58

07 MLT> 815

08 | WISH*> 714

09 BLACK AND WHITE* 10:41

01 LAND’S END> 5:17

02 BIG BLUE JAM> 522

03 GLORY CHORDS> 7:58

04 WHAT A DAY THAT WAS> 6:56

05 BIGGER ISN'T BETTER> 7:26

06 MOUNA BOWA 815

07 PRETTY POLLY> 820

08 JOYFUL SOUND:> 13:41

09 JUST LIKE TOM THUMB'S BLUES 6:14

DISC THRER

01 ROLLOVER 20:22

ENCORE

02 DON'T STOP ‘TILL YOU GET ENOUGH*> 7:27
03 SEARCH* 855

INAAIONI ASHIHD ONIYLS dHL

**with Danny Sears on trumpet and Chris Cuzme on sax from the Tonal Evangalists.

0810-07 RED ROCKS

DISC OINE

SET ONE

01 ON THE ROAD 4:58

02 CEDAR LAURELS 7226

03 THE REMINGTON RIDE 4:56
04 GOT WHAT HE WANTED 9:00
05 HOWLIN’ AT THE MOON* 814
06 WINDY MOUNTAIN> 11:58

07 MLT> 815

08 | WISH*> 714

09 BLACK AND WHITE* 10:41

01 LAND’S END> 5:17

02 BIG BLUE JAM> 522

03 GLORY CHORDS> 7:58

04 WHAT A DAY THAT WAS> 6:56

05 BIGGER ISN'T BETTER> 7:26

06 MOUNA BOWA 815

07 PRETTY POLLY> 820

08 JOYFUL SOUND:> 13:41

09 JUST LIKE TOM THUMB'S BLUES 6:14

DISC THRER

01 ROLLOVER 20:22

ENCORE

02 DON'T STOP ‘TILL YOU GET ENOUGH*> 7:27
03 SEARCH* 855

INAAIONI HSHAHO DNIYLS dHL

**with Danny Sears on trumpet and Chris Cuzme on sax from the Tonal Evangalists.

software issues. If you print these labels on PLAIN PAPER, you will need to trim the extra bleed area away or they will not fit. Additionally, you should print these with Adobe Acrobat 7 (older versions may not produce the
for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

<
E
wn
—
Q
3
E
=)
a
g
w)
Q
2
s
[
5
&
=
=
=
<
=
wn
5
=
=
3
2
Q
Q
<
o
8
-
Q
k<!
-
8
=
g
7
Z
15
=t
<
—-
£
-
Q
&
Q
2
£=
9
=
=
2
<
=]
Q
]
2
£
<
=]
%
o
=
2
8
<
3
=
>
2
2
<
=
g
Z
o
&
<
Q
et
3
=
Q
2
R
>
Q
<
=
=
Q
3
2
wn
=
<
o
]
N
2
2
<
=
=
o
o
8
<
=
€
Q
i
Qo
2
&
v
0
[N
3
o0
=
e
<
o
Z
()
L=
=
5
=
=
g
&
=]
2
=
Q
I
)
h
172]
Q
3
o
-
<
]
2
<
=
Q
172)
Q
<=
=




